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 ��� � ���	�
��
  ��� �� ��� 	
��
 ����� (SSP – TD101) 

	�
��
 ������  
 ����� �� ��	�
 ��
��	 � ��� ����� �� ���� ���� � ��� ��� ���	�
 ��
��	  !� �"	

��� �#  

��� ������  

 ����� �������$% ���� &� ��' � ()�*� ��#�!+ ,� ����  ,��-� �!+ �� .���	��� 

������$%� � ��' � ����!+��� &�� /�� .0�1����  K� ,234 ���	�
 5�6$	 �	 � 7�� �)���

��� �	� ���� �8-��6� .��9 .����	� �)��	�
 5	�� ;�<�� =>� �(...  


���� (mm) 2000 × 700 × 1000 
��� (kg)  30 

�� ��� 5% �� ���A��� ,1 �2!� =
�B� C�	D�	 �� E#��  C�	D�	 ���F ��
��	 G�#%�� E��� .  ��1 ��	

H�0 �	 H��3��	 �� �#,���� I��BF J	�'	 ���� .K	� ,� �	��� �	 ,1 �� E�	�  L�A�	�� ���F .H�0 �����1 E�M �# 

�	 E�����N  :H�0 P������� �� ����� ,�E� �1 &�K ��#=) H�0 �� � �# &�K ��#  � 7�� ��#�������3B�	�� �1

���Q6# ,$�$ H�0 ��# ��� ���F ����� =��
� �	�� ,1 ��	�  ��1 ,� ,��>� H�8��� .��N ���� � 	�#�� E��� .  

,��D# �5�� ���R�	 E���� �)�	�N ,� H�0 /�� S�*��	 ������1 �# ��  T��U C#�1 5	D�� �E�$�� ��#

�� 5���� ��-� =�	 C�	D�	 �  !� �� ���A���H�0 � ��	� �8�B� �# .H�8��� ��	 �	�� T���� �	 ,)��� �

��	  !� �"	 ���� �� V�
2���� �� ��	�
 ��
��	 � ��� ����� �� ���� ���� � ��� ��� ���	�
 ��
 �# 

=�	. 
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	�
��
 ��� � ���  �������� ���� (SSP – TD102) 

	�
��
 ������   �����G��$���	 ����� ��P)6N ����	�
 ����� H���� ���R�  

��� ������  –––––  

���� (mm) 550 × 300 × 500 

��� (kg)  42 
 

 ��#E��%�� �	 H��3��	 5�E� 	� ���	�
 �W��	 ,1 =�	 ���	�
 ����� �N�� G��$���	 .P�� H�8���

�� .�E�� �P���P� �W��	 ,� ����6�9 E�1 .�� .6N 5% ����� �� ����� ,1 �)P�� ;# E��%�� �� �	 �E�1   ���

)Isothermal ( ;A
 ;# E��%�� �� �)Isovolume (�� .�P-� ��9) .���� 61 ,� L�A�	 S����� &

�� ��9.( 

W��$� �P���P$	 =�6$	 &�  ,� 5% �E�$�� ��	�
 5	D�� ,1 =�	 HE9 H��3��	 ��	�
 ���� 5	��N ,� ����0

H�	E�	 � ����1 .��+ =$�>� =�	 ���F .H�	E�	 H��� ��������� &� X��� ����� ����K �P���P� 5	��  ���F

�� ��9 . &� � ���1 �E�)�� &� .��9 H�8���=�	 ��
��	 �E�)�� . ,� ,1 ��	� ,��!P� 5��B�0 &� ��E+ �E�)��

.�� =�	 HE9 .Y�� G�$ . 5��B�0 &� ��
��	 �E�)�� ,P�$�
 ��)S����� (��	� ,��'��  �	 Z��K �Y�N &� �� ,1

�� H	� ,� D1�� =�	 ���[� .��+ ��E+ �E�)�� 5�+���� ,� =�B� 5% ��� ,1 E��	 .�R� .��+ ,��>� ��� ,��	� � H��� ��

=�	 ���[� .��+ D�� CK�M =>�.  

�� �-����F =�6$	 ��	� �	�+ ��
��	 �E�)�� ��>��	 &� .���������  �1�P!4	 �	�� &� .��9 H��3��	����

 J�' &� �	 � H��1 ���N H�8��� �\�� =6B+ �� &M�1 H�+�+ &� � ���' ]�M ,� .Y�� H�+�+ ��� �	 ,1 =�	

� J�' �	 � ���� ^������ ,��� .Y�� ��	_F��� ,31 ,� �8� ��9 .,��� �	ER� ��� �	  ��� �	ER� � ^������ �EN � �#

=N���� ����� H���� ,A��� �� � ����K �P���P� �W��	 ����� ��2� ��E+ � ()�*� ��#  .��+ ()�*� ����� ��#

=�	 ,���2�. 
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	�
��
 ��� � ���  ����� ��� ��� (SSP – TD103) 

	�
��
 ������  

H�	E�	 =$�
 ���F ��#E��%�� ���>��	 ��# Z�� �� 	�# � S% 5���� ]�� ,R$�!�  &�K ��#

��1  �����  =$�
 ��P��� L	�F��� &� ��� ���>��	 ��#  �� �W��	 ,��	�� ����� �&����

�	E��0 5���� ,$��R�  

��� ������  

 5	�� ���#:                   1 kW                              

 ,�_[� S%:                 32 lit/hr  

��� ��B�� :                  PT100  

 ��� `60:              40 lit/min        

E# S% :                          2 m  

 �P���P$	 ��Y*-�:  ��3P�220 V   


���� (mm) 
150 × 150 × 600  Z��  :  

1000 × 1200 × 600  D��  :  

��� (kg)  45 
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	�
��
 ��� � ���  �
���� ��� ��� !"# (SSP – TD104) 

	�
��
 ������  

��1��1 �� ����9% � �)4	 �	D�	 ��2�� ;�� � ���	�
 `60  �� ��P)6N T��U ��#

����� ()�*� X�	�9����� ��E+ ���R� � �.P�� ��P)6N T��U � ����K ��	�
 �

�	�� �W��	 ,��	�� ����� ����a61 � ��B�	E�1 �=$�
 �� ��P)6NPump down  

)�����a61 ����1( ���%=$�
 L	�F��� ��� &�)P�� E�� p–h�  ��
��	 ]�� ,���2�

�E�� �� ��	�
 �����F ��# � 5��E�	� ���R� �...  

��� ������  

����     :  R–134a ��R12  

61��-F�� � =�� �E�)�� &� &����# ����a �&�K S% ��B�	E�1 �&�K 	�# ���	�0	�	 

��� �$���A�� ��#�8-��6� � �#��B�� �S% ,� 	�# ���	�
 `60 � .��9 H��-� ;�B��

E���� ��E�>� �	D�	 L�6� �E� �	�	�  Pump down  


���� (mm) 1100 × 650 × 1200 
��� (kg)  60 

 �� ,1 =�	 ��	D�	 .��9 H�8��� ��	`60 ��# �� H��3��	 ��R�4 ���	�
  E���� ,K�M &� � ��9

�� .�P-� 	� .��1 E�#� .��bb��a61 � ��bbB�	E�1 ����	�0	�	 �	 E�����N ,K�M �)4	 �	D�	 . ;�B��

S% /�� �	 ��B�	E�1 –,$�$ �� &�K  	�# /�� �	 ���	�0	�	 � &����# ��b��a61 �� �	–�� �� �� &�K Ebb9��  �

�	E� &� Pump down =�	 HE9 HE��A�F ;�B�� �� D��. 

��9 ����� E����$�� ��9 �E��� �Y*-� �	E
� ,� ���	�0	�	 ����K ���� ,P�% �	 �0  	� c�B��	

�� �E�� .�� ,�	�	 ��K ��1 ,� ����a61 �� �0 HE��1��� H��� �� 	� ���P)1 � E#� E�1�  d�e�� ,1 ����� ��

E�1 .6N \�� ��-� �!+ . ;�B�� ��	 ��&� �	 =�	 HE9 H��3��	 =B�� X�2� �� ��F��� HE��1��� H���. 
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	�
��
 ��� � ���  ���$ �
�%
 �&�'(
���)  (SSP – TD105) 

	�
��
 ������  

;1	�� .P�� ����� � ��*� ��Q*� �	�� �W��	 ,��	����#��� �"	 ,R$�!� �   ()�*�

T��U ��� ����� ��E+ �"	 ����� �C����� ��E+ ��� ��	E�1    �"	 ,R$�!� ���P)6N

��B�	E�1 C����� �� ��	�
 �)1 ��
��	 T��U   

��� ������  

 ��B�	E�1:                   ��� S% .��1 

 5	�����	�0	�	 :                  1.5 kW  

 5	�� ���#:                    1.5 kW   

 5	�� ����a61:                   1 hp      

 ��#�8-��6� � �#��B����� ����A���� ��HE��9 .3+ ��# ,��0 �� ��\�� ;  �... 

 �P���P$	 ��Y*-�: ,� ��� 380 V  


���� (mm) 2200 × 2150 × 500 
��� (kg)  110 
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	�
��
 ��� � ���   �&�'(
���)���$*
�+
 ,�%-�  (SSP – TD106) 

	�
��
 ������  

�� ,R$�!�%C����F ��#E�� –C����� ���	D�	 =��'� –��	�� =��'�  � �C����F��� 

 �P���������� f	�K ���R�)�f�Y*� �a$���% � f�Y*� =��'� �f�Y*� ;A
 ...( �

C����� �' �� 	�# f�Y*� S�'� ���[� ,B��
� �D� �# ����F �<� �� �� g)���#� 

����a61� HE��1��*�� (�� ����1 ;A
 5	��N ,�  	� ��1 � ���F ��<� ���#���	��0 5	��

���% =�E�.  

��� ������  

 S% ���:                10 lit/hr  

 	�# ����1 ��R�	:       300 × 300  

���#  ��5	�� ��# ��[�� �����)� �.��1 C����� ��# � ��#��B�� � ��[�� =N�� �� ��

 ����A��=��'� � ��-� ������ ��,��0 �� ��\�� ;  � HE��9 .3+ ��#...  


���� (mm) 2200 × 1800 × 750 
��� (kg)  180 

 	� ��-����% �	 �R��� H��BF H�8��� ��	 ���� �	� L�A�	 5	�� .�#���# E���� ()�*� �	D�	� �� �#  �

��*� E�$�� �	�� ���#�  � ����a61 ... HE9 ,��R� ����1 .K	� �� ����1 �	 ����N �	�# X�	�9 ���[� ��<�� ,�

=�	 .H�	E�	 �	��  �� =��'� � ��� ���F����1 ()�*� �'�
�� ��	� ���� ���#��B��. 
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	�
��
 ��� � ���  ��
.�� ��
��  (SSP – TD107) 

	�
��
 ������  

,Y*-� 5���% =�E� � ���D�� ����� ��P)6N ����� �6A
 5��E�	� ,)6� �	 5% ��#  �

����=K�� HK�� Hh�� J�Y� ��=  �� ����K ��#��F �	 HE9 .
��� ����F ,���2�

 �E����i ���	�
 �B6#  

��� ������  

	�# ,���� ��>M �E�)�� &� ����� ���D�� &�K  

 ����K ��E+:         2.2 kW@3000 rpm  

 ����� ;A
: 183 CC 

��B�� �8-��6� � �# ��� ����A�� ��#  ������ ��� �,��0 �� ��\�� ;��� �����1 .�0  ��#

 � HE��9 .3+...  


���� (mm) 1500 × 500 × 1200 
��� (kg)  85 

=N�b� &� X��� 5% ����� �	�# ��� ,1 =�	 ���D�� ����� &� .��9 H�8��� ��	  ^��

H�	E�	 �� ���F ��9 . =K�b� ��� ���Q6#���Y� �� D�� 	� ��1 ,���2� 5	�� . =2� ����� ����K ��E+

�� J�Y� �#���# 5E9 �9�� �� � HE9 .
��� ���	��W ,� �D��� ��E+ 5	��N ��9 . .�0 ��� �� ����� ���

TB
�� rpm �� H�	� C��6� ��9 .�� &�K �B6#��i ���	�
 �E�� &� X��� ����K ��#��F E��9.  
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	�
��
 ��� � ���   ��
����.
� (SSP – TD108) 

	�
��
 ������  

 ����� ��P)6N ����� �$D��,Y*-� 5���% =�E� � �6A
 5��E�	� ,)6� �	 5% ��#  �

����=K�� HK�� Hh�� J�Y� ��=  �� ����K ��#��F �	 HE9 .
��� ����F ,���2�

��i ���	�
 �E�� �B6#  

��� ������  

	�# ,���� ��>M �E�)�� &� �����  &�K�$D��  

 ����K ��E+:         2.8 kW@3000 rpm  

 ����� ;A
: 183 CC 

��B�� �8-��6� � �# ��� ����A�� ��#  ������ ��� �,��0 �� ��\�� ;��� �����1 .�0  ��#

 � HE��9 .3+...  


���� (mm) 1500 × 500 × 1200 
��� (kg)  90 

 &� .��9 H�8��� ��	�����  ^�� =N�b� &� X��� 5% ����� �	�# ��� ,1 =�	 �$D��

H�	E�	 �� ���F ��9 .�� D�� 	� ���Y� =K�� ��� ���Q6# ��1 ,���2� 5	�� . =2� ����� ����K ��E+

�� J�Y� �#���# 5E9 �9�� �� � HE9 .
��� ���	��W ,� �D��� ��E+ 5	��N ��9 . .�0 ��� �� ����� ���

 TB
��rpm  � H�	� C��6�� ��9 .�� &�K �B6#��i ���	�
 �E�� &� X��� ����K ��#��F E��9. 
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	�
��
 ��� � ���  ��/0 �
�%
  (SSP – TD109) 

	�
��
 ������  
 ���_� E���� E
	� g	D�	 �� ����9% ���_� E���� ;�B�� ��P)6N ��4	 ,R$�!�

H�	E�	  ���F .P�� ()�*� c�
� �� ���    

��� ������  

 ���� ���	�
:            �P���P$	 ���#     1 kW   

����– Sj��:            S%–k�����%  

 ���B�	E�1 ����	��W���	�0	�	Sj�� � ���	�
 �E�� � ��-����� 5	�� �  .��+ �-����F

;�<�� ��-����F 5�6$	 &� ���Y� 5	�� C��6� �,��0 �� ��\�� ;��� � HE��9 .3+ ��#...  


���� (mm) 1100 × 500 × 850 
��� (kg)  75 

;�B�� JlK�� �E���� ��#� m�6�
�B� ��_� E���� ;�B�� �� H��3��	 �����F �W��	 �	 E�1 . H�8���

�	E� �� .��9 k�����% � S%� HE�$�8M ����	��W� ���	�0	�	� �� ���� ���	�
 �E�� &� � Sj�� E9�� .   
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	�
��
 ��� � ���   �
�1�����2
��  (SSP – TD110) 

	�
��
 ������  
C9�� HE�E0 �P���������� ,��0 ��4	 C��6� �H�	E�	 ��� � ��-� ���F � ��2�� ;����

=��" ;A
 �� ��� ,� =�B� ��*� ��-�  

��� ������  

5D*� ;A
  :                          5 lit  

 ��-� ^�F:                         0 –20 bar  

 5	�����#  :                          2 kW   

 ����)6N ��-� �n1	E
:               15 bar    

 5D*� .62� .��+ ��-�:              25 bar   

��� ��B��  :                                                PT100    


���� (mm) 600 × 500 × 750 
��� (kg)  55 

  

 5�	� 5�-� �	�� =���� G�� H�8����� ��1 ,� /��9	 ��*� ���� � ��-� ��� ,!�	� ��� . ��-� ��2��

��*�  ��-� �� /��9	10 =�	 ���R� .��+ ��� .� HE9 ,�*�� ��-� ,<32� &� �� S% �	 ���R� �	E
�  X���

�� L�F 5% �� HE9 TY� �P���P$	 ���# ��9 .&� � ��� ��B�� &� �	 H��3��	 ��   ��-� � ��� ���-� ��B��

 ��' ,��� =�" ,����0 ��9 .�� 5���6'	 ��9 &� H�8�b�� ��6�	 �	�� =�	 HE9 TY� 5% ��� . ���Q6#

��E2� d���� �	�	� H�8��� �� ��	D�	 L�� ���� � ��-� HE��1 E9�� . c���
	 �� E��� q	� ��*� �� C����%

��9 L�A�	 ���-��.  
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	�
��
 ��� � ���  $�����3"� *2��� 4�  (SSP – TD111) 

	�
��
 ������  
 ����a61 ��1��1 ��Y*-� ,���2�,)
�� �� ����B�0 )�6A
 H���� ��1 �  �������D�	

�P���P$	 ����� ����� 5	�� � �D��� 5	��( �����a61 ���>� ��-� �	���[� �"	 �����  

��� ������  

L�� ,)
�� � ��	 ,)
�� �E�)�� �� ����>� � ����� ������ 5D*� ,� � ����� �P���P$	

��� ,�  =>� ����a61 C�	� ����� �����  

��	 ,)
�� :  

 �E�)�� �	ER�:          2  

 ��-� ;6�D1�� :     8 bar 

 ����� ��E+:        3 kW 

 L�� ,)
��: ��	 ,)
�� E���� ��Y*-�  

 	�# �����:            8 lit  


���� (mm) 1400 × 800 × 1200 
��� (kg)  180 

  

 JlK��H�8��� ��#  .��+ � H��-� H�8��� ��	 �E��B# �F�D� ���K�� �	�	� ,1 L���� �#�8-����%

 .6
=�	.  

 HE9 TY� L�� ����a61 ����K � ����� � ��	 ����a61 ����K � ����� �� ����� ��B�� ��>M

 c�
� ��	 �� 	� ��� ����
� ,1 =�	H�	E�	  ���F�� E���6� .  

 &� H�8��� ��-�� ��6�	 =>���P��  ���>� 5D*� ��� �P���P� d����) �	�# ���% �6� 5D*�

H��bb-� (� ��-� 5E��� ���4 �� ,1 HE9 TY� , ��	 ���-� C�	D�	 �	 ���F�)� �	�� ���A� E


H��6� .6N d���b���P�� ��� =1�
 �	 ����� E�B�	 .� �P�����P$	 ��� ��B�� &� X��� ����a61 ��� �	E


 .��+H�	E�	  ���F =�	.  
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	�
��
 ��� � ���  ��5� ��
��  (SSP – TD112) 

	�
��
 ������  
��*� ��-� ��2�� =�" �=K�� J�Y� ���R�� HE9 E�$�� ��*� �	E
� �����K 5	��� 

HE�$�8M ��P)6N � ��*� G�� H����  

��� ������  

 5	�� ����-�� :2 kW         

 �!+ �E�)�� :20 mm                         ��' �E�)��  :20 mm    

 /��9	 ��*� ��-� :4 bar      

 C����� �!
�  !� �� HE�$�8M :   80 cm2   


���� (mm) 1400 × 550 × 900 
��� (kg)  90 

���	�
 G�� E���� ��*� ��9�� &� �E�)1 � ;>� �	D�	 .��9 H�8��� ��	�  �� 5��B�0 �E�)��

���	��W�  `60 � 5D*� �� S% ,�_[� ���� � HE�$�8M�� E9�� .H�8��� ,6#  ��� �� ��6�	 �	D�>A� � �#

=�	 HE9 ,��R� H�8��� . 

  

   



 

P
a

g
e

 1
3

 

  

	�
��
 ��� � ���  ��"
���� 6"�  (SSP – TD113) 

	�
��
 ������  ���1��E�# /	��	 ���	�
 I��	 ���R� =�)��+ ���� ��# �=K�� ���� � E���  �#    

 ���������  

 r�NT6� :  100 mm        

/�3��	  T6� :       250 mm 

 ��E��� =2� Hh�� �	D�	 L��XP 5��% � ���� TY� ��  


���� (mm) 600 × 500 × 400 
��� (kg)  30 

,+�� ;�B�� � ����K H�	E��� S% ,<32� &� ���6��$�1 ,<32� �T6� .��9 H�8���  ��B�� ����

 5h�B1	 W��9 E
	� &� � ����� ��-� ^�F ,� D>A� E9��. 

S% I�� H�8��� ��	 ��� ,� �Y2�� �Fh�� � �E��  7	��
	 ��6�	 5%=�	 . d�0 ,��0 5��� T6� ,�E�

S% f�K �P���\ ��Y�	 &� �� � HE9  �� �E�� ��9 . ,�K�� G�� EU �\�� ,M��aP� C69 &� �	 T6�

��-� �� ���P��9�� �	 �0 ,1 HE9310 =�	 HE9 =B� ��� . ��P�����P$	 ;�B�� ,� D>A� H�8��� ���Q6#

 5��� ,� =�B� J	�F ;���� � ��Nl'	 =�" =>� f�Y*� �	D�	 L�� � ����a��1 ,� ��Y�	 =>� Hh�� ���

�� E9��.  
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	�
��
 ��� � ���  7��  18
  (SSP – TD114) 

	�
��
 ������  

 �	 �R��� H��E2� L�A�	 =�)��+C����% ���� ,� c���� ��# �# )5���� � ��-� ����� �

���� ����� �	�"	 �HE�E0 5�	� 5�-�  �	EB�	 (choking) � � (�3K c�B��	 5�	� 5�-�

��� �� E�E9 c�B��	 �F��-� ����� 5���� ]�� � ����� ��-� ��� ,!�	� � ��� ,!�	�

���� 5���� ]�� � ����K ��-� � Z�� � ��4 =N�� ���R�,��U �	(  

��� ������  

H��E2� H�	E�	 ��# ���F : 

��� :                         0 – 50 °C  

 ��-�:            ^�F �� 0 – 10 bar        �    ^�F =-#      1 – 9 bar 

 ����� ��-� ���\�F�: 0 – 12 bar    

()�*� ���� /�� ,� ��D����  �...  


���� (mm) 1800 × 400 × 1000 
��� (kg)  45 

���� �� 5���� ;1	�� � ��-� ����� H�8��� ��	 �	 H��3��	 �� �� 	� �# ��1 ����� 5	�� . �	 �R��� H��E2�

��-� =�	 ;�<�� .��+ ��b-� ���\�F� �	 H��3��	 �� ����K � ����� ��# .�E� E�M H�8��� H	�6# ,�   ����

�� ,U�N ��9) .	�86# ���� �� � 	�86# ���� &�–	�F	� (H�	E�	 ,!
� ��E�M �	�	� &� �# ,1  ��-� ���F

�� ^����-� ,� ���� TY� �\�Y�	 X��� ,1 E9�� �� .Y�� �# ��9 . �	�# ���� &� ,� ��1 �	�� H�8���

��	� ���� H��-�.  
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	�
��
 ��� � ���  *2��� �
 ����3"� 4�  (SSP – TD115) 

	�
��
 ������  A
 H���� ���R��6  ��D�	 ������ C����% L�A�	 ,)
�� &� ����a61 ,� c���� ��# �	  

��� ������  

H��E2� H�	E�	 ��# ���F :  

���               :   0 – 200 °C 

��-�  : 0 – 10 bar                 

����-F  :0 – 5 N.m               

,)
�� &� �E�)�� &� ����a61 �	:  

 ���Y� 5	�� :750 W  

 ����� =���t :                      150 lit/min in 8 bar  

 5���6'	 ��9 ,�)*� ��-� :10 bar                       


���� (mm) 1600 × 600 × 1000 
��� (kg)  75 

H�8��� JlK��  H�8��� ��	 �E��	� f�Y*� 5���	E��� ,� ���� � H��� �F�D� ���K�� �	�	� ,1 L���� ��#

 .6
 .��+ � H��-�=�	. 

H	� ;�B�� �	�# 5D*� &� �����a61 &� .��9 �-����% ,N�6A� ��	 �	E�	 ����� � H�	E�	 �	��	  ,'���� ���F

�� E9�� .	� ����� 5D*� �	�� ���� �	�H�	E�	 ���F 5���� ��B�� ������ �	�#  ���P$	 ��-�-  ^�F &� � �P��

=�	 ��b-� .,3K 	E4 �����1 ��9 �5���6'	 ��9 �	�	� ��-� 5D*� ����K �1� ��B��   ^�F &� � �P�����P$	 ��-�

=�	 ��-� .��1 =$�>� =>� H�	E�	 � ����1 ��#�	D�	 L�6� �H�8��� �� + H�8��� ��)� .��0 ��� ���F HE9 H�	� �	�

=�	.    
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	�
��
 ��� � ���  ���9 ��� ��� 7��:�  (SSP – TD116) 

	�
��
 ������  ���	�
 �W��	 � �P���P� �W��	 ��� ,!�	� �����  

��� ������  

����1 ,� D>bbA� �P���P$	 �����  ��A��� ,�	���	 ��6��b$�1 5E��K�M �	�� =N�b� HE��1

,��� �	�b� ,N�6A� ���	_F��� ��#  D��� ��#,�	���	 ������ � ^����� ����� ^������ �  ��69

,�	���	 ��� �	ER� =�" �	��  


���� (mm) 500 × 400 × 550 
��� (kg)  28 

 H�8��� ��	 &61 ,���  L�\ ��1 5	D�� 5	��)��W TB
 �� ( ,���2� 	� ���F ��$�1 &� E�$�� �	��

��1. H�	E�	 L�� �� S% ��	E
� �� ��6��$�1 ��	� =+� �� HE9 ���F ��9 . HE9 ;�<�� =N�� �� ����� �a�

�� H	� ,� E��	 .�� E�$�� �����F ,�	���	 � �	�� ��� k�P!4	 �"	 �� C�	D�	 �� 5% �	E
� ,1 ��9  S% ����

�� ,���2� ��9 .H�	E�	 �� D�� HEb9 L�A�	 �P���P� ��1 ,��� X��� H��	� ����-F ���F  �#  5	��� �	ER� �

�� ,���2� ,�	���	 ��9.  
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	�
��
 ��� � ���  ���� � ;��5� �� <���� 7�=� � 6
�>  4��9 (SSP – TD117) 

	�
��
 ������  A
 H���� ���R��6 �D�	 � ������ C����% L�A�	 ,)
�� &� ����a61 ,� c���� ��# �	  

��� ������  

���� 5D*�  �.���	 ��� �	 HE��1 &�K ���	�
 5�6$	�� ;�<�� .��+ ��� �� 5D6# �

.0�1���� /�� K ��	 ,��
N ^����-� �;�<�� .��+ 5���6'	 ��9 � ;����D)� � 7�� �)���

 �������	 ���� �8-��6� ���6�	� .��9) =>�5D6# ��� ;�<��( .����	� �) 5	�� ;�<�� =>�

���	�
 ( �...  


���� (mm) 1000 × 550 × 1600 
��� (kg)  52 

  

���)6N �� ��	�
 ��
��	 �� ������1 ��	�� �	 �P�  ;�<�� � �	� 5D6# ���1	� &� 5�	� ��	�
 ,����0�� ��#

 ����C�1	� =�	 C�1	� 5���0 �	 �0 �\�Y2� 5��1 &�K �a� � C�1	� H��� ��' �� . H�8��� ��	

 ����	 ;�#�3� �� ����9% �	��H�	E�	 ���F =�	 HE9 �
	�' ,����0�� ;�B�� &� �� ��	�
 ��
��	 T��U .

�� L�F �P���P$	 5�6$	 &61 ,� ,1 S% ���
 =�	 ��D*� ,R$�!� ���� ;�B�� ��9 . ��	�
 ��
��	 T��U

 ���� � 5D*� 5��� S% �	 HE9 =�" ��#��� �5D*� ��E�# .P9 &61 ,� ,���2� .��+ ���	�
 5�6$	

�	=.  

  

  

 


